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3)

-4.3.1.3 -4.3.1.8 BOX
1999 2003 10
BOX
COD T-N 1
T-P 1
-4.3.1.3
(m°/s)
BoX1 | Box2 | Box3 | Box4 | Box5s | Box6 | BOX7
1999 11.4 8.1 4.9 5.5 46 2.8 2.3 39.6
2000 10.8 8.2 4.0 43 46 2.6 2.0 36.5
2001 11.7 8.5 5.1 5.9 5.3 3.1 2.8 424
2002 9.5 6.9 3.8 4.0 3.8 2.3 1.7 32.0
2003 12.6 9.0 5.6 6.0 5.0 3.0 2.6 43.8
11.2 8.1 4.7 5.2 4.7 2.7 2.3 38.9
12.2 10.2 75 4.9 6.7 1.7 2.3 45.4
CoD (kg/ )
Box1 | Box2 | Box3 | Box4 | Box5s | Box6 | BOX7
1999 4839 3223| 2591| 2129| 1576| 1046 1,240]| 16,643
2000 5,148| 3583 2419| 1876 1,653 939| 1,115| 16,733
2001 5299 3469| 2,772| 2651 1,749 1065 1,632 18,636
2002 4995| 3322| 2670 2034 1528 987 | 1,334 16,869
2003 5369 3479| 2942 2496 1657| 1081| 1430[ 18453
5130] 3415] 2679 2,237] 1633] 1,024] 1,350] 17,467
4931 4428 2927] 1.662] 3,259 648 921 18,776
T-N (kg/
BOX1 | Box2 | Box3 | Box4a | Boxs | Boxs | Box7
1999 2232 1531 1246]| 1,116 745 555 608 | 8,032
2000 2421 1,719 1188 889 788 486 485| 7,975
2001 2490 1672 1,359 1,385 845 567 803| 9,121
2002 2,293| 1572 1,280 952 709 502 540| 7,848
2003 2500 1660 1416] 1,192 779 552 611| 8,710
2387] 1631] 1,298] 1,107 773 532 609 [ 8,337
2,059 2446] 1,654 723 1,485 292 438] 9,097
T-P (kg/
BOX1 | Box2 | Box3 | Box4 | BOx5 | BOX6 | BOX7
1999 113 103 74 52 49 30 23 446
2000 114 105 74 50 50 29 22 445
2001 116 105 76 55 52 31 25 459
2002 111 101 73 49 47 29 22 433
2003 117 106 78 54 51 30 24 459
114 104 75 52 50 30 23 448
103 100 57 37 51 18 30 396
H3 H12 10
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